(1000, 1000) m = A dkaidll cililaa) il 13 B, C, D, E Llall cililas) as olial aliaall 1k
Line AB
Ralad Dep.=L sin Az.=450 sin 45° 15'= 319.6 m
Lat.=L cos Az.=450 cos 45° 15'= 316.8 m
Xg =X, + Dep.= 1000 + 319.6=1319.6
Yg = Y, * Lat.= 1000 + 316.8=1316.8
-. B (1319.6, 1316.8) m
Line BC
Dep. = Lsin Az. = 120 sin 165° 20' = 30.38 m
Lat. = L cos Az. =120 cos 165° 20" =-116.09 m
Xc = Xg+ Dep.=1319.6 + 30.4 = 1350 m
Yo =Yg+ Lat.=1316.8 - 116.09 = 1200.71 m
D - C(1349.98, 1200.71) m

N 285’ 48’

(1000, '1000)

Line CD

Dep. = Lsin Az. =300 sin 194° 36' = - 75.62 m
Lat. = L cos Az. = 300 cos 194° 36' = - 290.31 m
Xp = X+ Dep.= 1350 — 75.62 = 1274.38 m

Yp =Y+ Lat.=1200.71 - 290.31=910.4 m

D (1274.38,910.4) m

) eng:Hadi Mohammed2020



Line DE

Dep. =Lsin Az. =80 sin 285°48' = - 76.98 m
Lat. = L cos Az. = 80 cos 285°48'=21.78 m
Xg = Xp+ Dep.=1274.38 - 76.98 = 1197.4 m
Ye =Yp+ Lat.=910.4 +21.78 =932.18 m

E (1197.4,932.18) m

5 aslaall s Y sene anlail s aliall Jsla IS 1) cilibial) o g sl 138 addiag A gSaal) cililasal)
A ¢ HE ARl a5 aball J sk alag) (Sa cadalis Cilgilaa

where: AX = Xg — X, AY =Yg —Ya

2 2 _ tan—1AX
LAB :\/(Ax) +(Ay) @=tan Ay

238 (3o My 5 cdalad) alag) o sllaall Jadl) g J BLA (1003 ) gemanall 43 ) 31 28 0 Aol ) ) Cus
Azimuth dall oladl Glua A3 ) 3

N
1o B(x,y) AX:XB_XAe AX = +
—Az. 28 Ay =Yg —Ya > Ay =+
.0 0 =tan_1§—§(/ = 0=+ = 0 =Az. AB
A(GY) 50 E

y
eng:Hadi Mohammed2020



AX =Xg — X, P AX =+
Ay =Yg — Yo > Ay =-

1A
f=tan 1A—§ = 0=- > Az. AB =180- 6

AX = Xg — X, =P AX = -
Ay =Yg — Yo P Ay =-

O=tan—18X — g4

> Az. AB =180 + 6
Ay

AX = Xg — X, P AX = -
Ay =Yg —Ya D Ay =+

—1 AX
O=tan38 =0== 3 Az AB=360-0

eng:Hadi Mohammed2020

Az. AB
A(X,Y) —E
90
\/\/
/
180 B(X,y)
N
N Az. AB
A(X1y) \“ = E
< ’ 90
%57;
B(Xx,y) 180
3600
B(x,y)
Az AB
Axy) | 90 E




oA GOV Lalas clilaa) S epma adiaad 2l
C LD Rl o= e
& Sl olail g J skl aa

Point X y AB, AC, AD, AE, BE, CD, CB, DE
A 100 100

B 150 170

C 140 60

D 60 50

E 75 180

Line AB

AX =Xg — X, =@ AX=150-100=50 m
Ay =y, -y, Ay=170—-100=70m => Az. AB=q=35°32"15.64"

O=tan —1%: tan —1§_8 — 0=35°32'15.64"

LB :\/ A%+ () :\/ (50)

 +(70)" =86.02m



Line AC
AX =Xc— X, =2 AX=140-100=40m
AY =Y. —Yo=2 Ay=60-100=-40m

Q:tan—lﬁ_;:tan—l% — O=—45° 3 Az. AC = 180 - § = 135°
2 2 2 2
LAC =\/[ij +(Ay] =\/[40) +(—40j =56.57m

Line AD
AX =Xy —X, 2 AX=60-100=-40m
AY =Yy —Yo=2 Ay =50-100=-50m

9=tan—1§_§</=tan—1:_g”8 —0=38°3935" 3 Az AD=180+0=218° 39' 35"

Lap (07 {2y =40

“ +(~50)" =64.03m



Line AE
AX =X — X, P AX=75-100=-25m
Ay =y -y, Ay =180-100=80m

(92tan—l%:tan—l—8_205 — H=—17° 217'14" > Az. AE=360-0=342° 38' 16"

L =\/(ij2+(ij2 =\/(—25)2+(80j2 —83.8m

Line BE Az. BE = 2770 35' 41" L, =75.66m
Line CD Az. CD = 262°57" 30" Lep =80-62m
Line CB Az. CB = 5° 11' 40" Log =110.45m

Line DE Az. DE = 6° 34' 55" LDE =130.86m

1 eng:Hadi Mohammed2020



Interior angles 4alall L) g3
W53l il 5 paill & ganall ()55 g debad) o jlae olaily y (adias)Blae JSE JAls Al L5 50 o
> Theor(of int.angle)= (n-2)180° O (1 U g R DX A EN KN
bl Adafall W g 5l ase=n Cus
- Al dgy Hlally (Aadatall Ll 500 g 311 Sl asaill Cuuny
Auiall L) g5l & same — Ll gl (5,10 & sanall = ddalal) Ll o 51 ST mual]
phiaall L) e sl ) JS maali G Ay ) ) S sl oy (e g
Correction/angle = total corr
n

Agliall il g5l (Sl ol 211 S5 S o et
Adaiall Ul g3 aes

Cungs sl ol A Adlal)daaie 4 5) ) JSU ) Adlialy dasiaal) kil 2 o) 1) o Gl 22y

il 3 )L
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Exterior angles 4 Al Ul 3
L 550 Al (g plaill & ganall (555 ¢ Aelad) e slaily g (alian)(alie JSG 7 JlA Al W31
> Theor(of ext.angle)= (n+2)180°  -: Jull o slall 8 LS dalal)
bl Al Wl g 3l xe=n  Euas
~rAlal 43y Hhally (Ao ladl Ll 510 g 5N Gl masaill Cusy
Aall Ll g5l & sane — Ll g 51 (5 kaill & sanall = Ao lad) L o 50 ASH el
phiaall L) (e 4l ) JS i G 450 ) S sl oy (0
Correction/angle = total corr
N

(360° = duaJLall 2y gl 51 + Zdlal ) e as ol Adaiil) 8 - Aaadle

A eng:Hadi Mohammed2020



Angles to the right or to the lift Jbeall A o) cadd) ) L g 30

B aleal) W 3ldl el ez sl S 58 3lacal) Tl 1 a3 il U5 30 a5

Ll 30 ansid Ao Ll (o jie e Anlia Ll g 3l Jla (8 Ll el () Ll 500 et de L) (o i olaily
bl I

&).\j\ kY MJ‘ e)&&AJAY\ a\AJY\jejLLAJJY\ oMY\ UJS-\(JAJ.\yc L\\j)j\uat).\j\ KV C_\Mﬂjs
Al s e dhall s e IG5 ae ol (7 sitall JSEN 3 Slaall aliadll)

Ol (1 1 30

\ ]

C v \
Known Wown AZ T

E D o E
poina sl slas) polna slgs ol

=l ) shaall o Lol Cilaliaall (e & il 138 8 L) g 3l e
oladY) s o1 s Jedeclly dliadl) g Mal (g alia IS oladl canad 51 olat¥l e dlaie YL )
@Mﬂ\ Qéjc(e}h‘d\) GL:&AS\ @L@_\S\ slay| &= (L.\M\ @\.@_\S\) slaiy ) 1 oy ey ({3 e g6 L;ﬂ.@_\j\
L sl Ll 50 S]]

T.Cfor angles= Known AZ.f —-Computed AZ.f
o gmnall gl olai¥) — (Jaxall)aslaall leil) olai¥ =¢ppad) ) Ll 50 JSH sl
Q\Y\S @ gunall ‘;_1\.@_\5\ oY) s (Say -V

Computed AZ.f = Known AZ.i +>measured angles —n.180°

Aswtall cpadd) U3 22 =0 o) s
e Ll Cjlae aw sl e J saall 360 © 4l Caliay Wlke (o gunall  Algall slasV) 1S 1314 das e
% 188 : ' c;;.aﬂ SHAY Ae sy
1 eng:Hadi Mohammed2020 (\ ) )ssj\ é\.AS g\j)ﬂ "ASM ° bt o .




=Y O gl e el (L5 S (6 51 & sanall oy ¥

> Theor.of angles to the right= Known AZ.f - Known AZ.i+ n.180°
Asiall Gaaall (101 50 axe = o S
ouiall & sanall pa 45 a2l 360 © WY (any g kil ¢ gandl (e ylay a8
Ao smnall gl sladV) — ((axall)a slaall gl sl =Cpaadll ) L5 50 ISH sl
- AUl A8y plally Ll g 5 S el Gl any Gy -

T.Cfor angles= 2 Theor.of angles -2 measured angles

Ll 3 aae e JSI musail) dand SIS (e 4o gl ) S sl 33 23 (e g
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~AB kall sl oladY) 4l ale LaSeolial JSAI) 8 LS cilSd ddafall bl g ) Cuwde ABCD é@\-;d&

C

Ty
e

Aasaaal) L1003l Ciwal )
Jasadl doa AN U g 3l Cual -
&M dasiadl cilalasy)-v

-:dall
S AR L) gl st ()
360°= (n-2) 180 = kil ¢ saaall

=C%;~dﬂ\&4ﬁ-{d;ﬂ
20'= 360° -360° 20’

5= -20/4 = 45 ) S sl



iloa-d1 | 4—all :___.L;-i..iji:::i'__,}‘;.ﬂ c;o-..a;‘l_! PSP, § I__:i::_!.}.i! L__,E_;;H
Point Int. angle bo_rrf:’&ticii:l Corrected Int angle |
A 36° 44 — 5. 36° 39
B 231 027 — 5 230° 57
C 29° 26 — 5 25 217
D 63° 08 — 5 63° 03
3 = 360° 207 T = — 20| = 360° 00 .-. Check

T Theor. of Ext. angles

(n + 2) 180

-leaaaal s A Al Ll 5l b

1080~ QOO

(4 + 2 ) 180

- T.C. for Ext. angles — 1080° — 1079 40" — -+ 207
' 20" .
- Corr. / Ext. angle — s 3 ~a= =5

eng:Hadi Mohammed2020
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AT SO | NS P [ 35-FO 1 eadl | T all oyl 5,000
Point Ext. angle Correction Corrected Ext. angle
A 360° — 36° 44’ = 323° 16’ 5 333° 21~
B | 360° — 231° 02" = 128° 58 255 129° 03’
C 360° — 29° 26" = 330° 34 G 330° 39
D 360° — 63° 08" = 296° 52 + 5 296° 577
— 1079° 40’ = = + 20 |= = 1080° 00" .-. check

Brg.BC=B.Brg.AB+180-230 ° 57’
31°337+4180°-230°57=-19°24"'

=N19°24"'W
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6}1.&“ Ot.‘.Y|

AZimuth

312:33°
340° 36
131% 13’
248° 12'

19° 24" 4 29° 21" _ S 48° 45 E

Brg. CD
A = 180" (48°45 + 63703 ) = S 68° 12 W

Brg. D

For a check

o Bre AB = 68° 12 - 36° 39’ — N 31° 33 E

“;/‘l.dl. .:é}' C,“
Bzick AZ. Quadrant
N 31° 33 E S 31°33' W 211° 33
N 19° 24" W S 19° 24’ E 160° 36’
S 48° 45 E IN 48° 45 W 311%:15°
S 68° 12 W N 68 12 E 68° 12
N 31° 33 E

o check)
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oY) el (g yilall slai¥) agd ale ge cpadl ) Ul 3 Cnucolial JSEN a3l Jal ) aliaall-: s
- el Sl (g jalall sladyl

1.Compute correct angles
2-Compute Azimuth for all sides 3-Compute Bearing for all sides

Vo eng:Hadi Mohammed2020



Y Gk e el gllaall d g Alla L Lgaanaly o g g Ll g 3 Aaa (e (B -1 Jall
% Theor. of angles to the right = AzZy —AZi +n.180°
= 125°20' — 160°00" + 4 x 180

845°20" — 160°00" = 685°20

-. T.C. for angles to the right = X Theor. — X measurd

82°34'

= 685°20'— = | 237°14
119°44’
246°04

= 685°20' — 685936’ = — 1€

— 16’

.. Correction / angle to the right =
4




ezt | @l Gl AF 450 | eoeadl Zreenall 34100
Point . | Angle to the Right Corr. . Corrected angle L5l Tl -Y
A 82°34' — 82°30"
B 237°14 — 4 237°10°
C 119°44° — 4 119°40°
D _246°04 — 4 246°00
T = 685°3¢' > =16’ | £ = 685°20' = = Theor.
.. check

ARY%

—

_é,gs;:\ﬂ oA eland) Gl (’39" LaSe &).m\]\ @A;J Je& slasl 4 L;’-’)M slay ) s (’59" -y

L JAlSI (g 1St oLEVI

Azimuth

Side

PA
AB
BC
CD
DR

160700’
62°30°
119°40°
59220/
125220

TS CJ“ oLV
Brg.

S 20°00" E

N 62°30" E

S 60°20" E

N 59°20" E

S 54°40" E
( For check )
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/ :Directions <alasy)

Lalas dalal) clflhayl s 8 (03 haS it g dalidl Jleel L lan daga s 4y 55 ua dilee 2
La Jiags, cgthaall ball ) ine g e i e Al 4 30 Jiag Tadd) olal (o)) aia j¥) Jasiall
ol g A8all 3 Ailie () 5S5 08 3 A JIKEY) as) as

:True Meridian (A8l Jladdl - 1-

5SI A1 jaad) Jladll sie laplall ddass ) oS3 Al g dpa )Y 58N e fpad Al Jshall b shad Jiay 58
& oSN A (S Jladdl e Lo Jad il sl (et 8 (5 k) (3f (e 48 ylall 030 yiad duia YY)
) asaill 5 Guadll alasinl Gy sl e Ay (ald g 58 e 2y ) ZUsS LY Jshall b glad (e
A5 ynay o guene Ay g laa Q8 Al Jladll e 481l ()5S (o3 aadll aail) pladinl By 5k e
painn J shall Ja sl olai) (i Ama il ge Sl ) e e elld g deliall SLaY) aladinly 5l L
A sall e sl e W e 5 Jsall 5 el rase Jie dadiall dalisall Jlac V) 8 clalad¥) (e g sl 134

oI lamtt han
A AN 3LABIILIN L North Pole g asin3 3LadiLi g
(Meridian of A) (Meridian of B)

L2 e West

\ South Pole eng:Hadi Mohammed2020
St ki)



:Grid North (2 Al Juddl 2
ﬁ\ﬁjeﬂje\ﬁjﬁc_&d\@mQ\_écz\_'\:\xnw:\&u\jc_mw;\ﬁj@;ﬂa.d\d\.ﬂ\bj
Sl o as y AT s Jlad iy g Aidaiall Jans g & Jladl (i cang A jAl) aus i (ST g cditaiall
Lo g laall sda o)) e 5 of Al 5 ) sum Jadl) 1314 ) e dag ot (iat afidda jlall Jaaey b il
Cm La gl e Aa) ol Jalaal) culdilaa) loa ga e 32360 5 e yill olatyI ) g JaS 40 ) sl

i) JLaill ) s (e ok ola) s 31y Lodic 4ie iy SIS (o glasl)

:Magnetic North (ssblisad) Jladdl 3

AT e g o815 i yY) 3 SN il Jladl G o A V38N Ol 550y sma O iy yrall (4
Al adadll ) S Ay inlalinall QLLEY) oy Jaal 1) gl ga (o35 o Gl maydie (b yaly
S (8 Al dnalal) o3 e iy caal) 81 aall el bl e Guday Y oooliliagl
8 ol i il s ) 331 ALIS A 5al) 55 585 Lanie Ala sl Lplalinall 5 53)1 0 s Al sl
Mw\j@mwmd\ua@mﬂ\ﬁ_\j LAJ\JJM\\ML_A\JML@_MG&%LAMMMM
x (a) GAU-LLIMM uba.m\)[\ M}\Jﬂﬂ.\
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-:Angles b 531

88 (5 st e Gt V) oda S B, Cpadaliia aladd aalad) e (58 L3l Ll 1) o s
el aaddiny ol (San JA) Slea (g1 ) Apnphaline dlia g o) S 5358 Slea OIS (5 a Adliaal) 3 3] Aol
Ll ol el 4 25 (5all (5 shall Cans 430 ae Ll 55 40880 Ll 5 (N Ll 5l a2 2]l

eng:Hadi Mohammed2020

Types of angles

% MLN — Horizontal angle

ALM — Vertical angle
NLB — Vertical angle
Z1A — Zenith angle
Z1.B — Zenith angle




Horizontal angle 482 4 4) 3

;_'.:.'Ijl'n #&'I ($ glaia J,'_‘j.'l.ldl,i:alnﬁ.'l "_:k_i_;;_qu)s.u J]ﬂﬁ_'llﬁ]k_‘}:.:r)_:. #J
Horizontal pm]ectmu #s I baeadl G an gl 5 e 3 ke o thadt 2 ey
. _,,_all ] ‘Ldﬂ.'l —'dl_'ll ] I| 65|_ﬂ._‘|_|,] :1, ﬂﬂ”] __j L .-ﬂ]ﬁ 18 1_1lﬂ'3l'|lll ||_'| ) |||_|j_|||
{\ --)J w -"-r"'-l '«-"'h --':I b [ o s L -rj;,_ L LJ:Lb:"Ll'

vertical Angle (4 sall) 4 L) 4 ) 31

daludl 4 ¢ vertical plane Jld o siue 3 (pelaliic plad Gudgsl il s

;pajun#mm J1M_Pﬁjh@})}1dhﬁﬁ1m;ﬁajgb _gd':JJ.aaﬂk_H_ﬁ aal
‘L:IE.I) -f-lel)l _;. ,_J ._jE;j Mljw1é}j;jlw.hallu%%jjﬂudh;}l.mﬁaﬂ}lﬁ1
d._ﬂﬂ!.‘a” d._“'|jl|_)3|| -._i...a_g r“"':‘ l.-'.'..'l_'l] ﬂ:lj.ud_rl].d b..‘lb.llj -‘LLE'.J "'._'::I}&IJ]- 4_1#}1)]1 l._'i...aj.: Lﬂl:‘l] (-.‘l.-.d_)]ll
[0 s e (fiai

" Elevation A]]gle " E:'._EG Sy e fﬁ.“ﬂ LAl (348 30 g jall ddaaill 0l A
() A e el S0
saliadl dg gl et 38V Iadll p sl 32 5m gl ddagil) CilS 1Al L
() 4l &5 depression angle
(904H) € (90-) U 7 s 8 dgn geall Ay o) 511 A )
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I vpes of horizontal angles A_B3Y) Ll g ) F 1 gl

R S s e g A LTSS L P L

Amngle to the right' Ceeaadl ) 440 3

Sl 32 aloall 3 (3ad) alisll e Jeladl b oladily SwlEll a5 30 e 3 le A
AB =l cABC Cnealt (W A5 2 (360% 0) O leied m ool gE
-.....,'——‘5'_5'- 51.7_1}1:;.1\ ol Lo B oalss Ol s .:3:-.35_11 ‘_.A__'ln.hbl'! Sy B (at__i_._bjll_g __:g._"l_g.dl él.h':d" J_.cu
Jia € Adass ) g 3Dl aliall s 0P allnll s Galdl allnll s BO Al RIIBCD 42 6l Bl
EEPIS\ ST

ABC D

[N

A

0]
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Deflection Angle <) o) gl
C,n):,san;ﬁg;m\ Q.LA\JJ‘ Ll QL'A\ kel e Aulaadl A gl 3l e B jle =y
P (180% 0) o Lied

D

A

S PNNEY

pall ol et gl en Ao L) e aladil Aulie Ay ) 3l S 10U
falie 4y 5 5l ZulS 1315 "R" aall W 3 s " Deflection Angle to the right "
Deflection Angle to the Jladl ) <ol i) 4l 3 ol delidl e S oladly
. nLn _-‘);p_? Lé-‘ }‘)3’ "left"
 (65°) hiad paadt (Il jail Al 5 e 3 ke ABC=65R Agl M
(727157207 L) 4ol i) I Sl pai¥1 50515 e 5 e BCD=72715"20" L %) M5
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solasy) QNA.RJ;\.ABJ‘
:Azimuth or Whole Circle Brg(W.C.B) Jalsll ¢ yilall aldii ¥ ol
Alall Uil iy adladl lag) (o glaall ol elaily deball (o jie ae Laily Jladil) (g Al 2830 4350 311 50
@M\&Bﬁ@BJHW\ ] BJH\M&_);)_}S\ By gaan dalad) Jiady o cchlalasy) Joianl
b Uil 138 Claial go el e S 8 Y AUl e Ay i
850 (B JA2 M olatY) () olina 1368 3500 La ) oladl \‘3)3 S5 360° gOO dA%)Uﬁ 49l dasd )
ALl 5 ) g3 4ia = Hhai da 30360 (e oY) A ) \5\).‘;3‘2\ 359l JuST o)) amy (... Al Aulll) 3aas 4y Yl
aiys Laily el (e ae Jlall e saill 13gd Guldl) dglee Y lld g Aaill 13a 8 38 jal) aaad oy Y
olial 8 LS 5 dpalie W 5 plall ¢ bl bl e alaill Jae

N
360 | 0
el &l Azimuth
o' | AB = 30° 15" J531 w2
W= 5 E —
ot | o AC = 1200 20" i x )l
& 7 J.;.J E N B
(G| P A o'i/;) AD — 2000 05| L_du‘ @)M
1801 S o?j\\\\ ) _ 020" ol \
S SH. —< \\\120 20’ AE 340 30 @)j CJ)]
W — —A — — E
i . / /
v
D S C
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solady) (s YONCY]
Reduced Bearing (R. B) Bearing s<aidall g s Al au ) alladl) ; Ll

O5Sase all )G Lagal aalad) alag) Gslhall all oy g sinll ol Jlaill ol oy A8Y1 4460 311 o
rop Al 138 Cliia o)) (Al g Ao L) ojie slaily) Cajadl ol Gl sladily (il
1 al alailly e GIA 900 & 00 (e ¢ sh i Alall Ay o) 3 A )

(N ...... E )d)‘)f\@)ﬂ\‘_g)\mcé@\@@:éﬂ\@)\&dﬂo&‘ﬁ\\JACAU:\SJ;?M\'
a5l Aled ey € sl 3l Al Jiay a8 ) € a0l ey € ol Y Adlall Al
N (sd Sl §say )
whesd ] de S = South :o sial N = North :Jlsl
W = West ;| E = East G5l
W E
L) g - T N B Bearing csiadl ol Jleddl e (bl | &l
] s
° e | - AB =N 15°20'E Jsyl
IV AC =S 40°30'E JC)
W — A — E
AN AD =S 20° 10' W il
~ ‘ AE = N 350 45' W &
vV
D S C
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Relation between W.C.B. and R.B.
The following table shows the relation between W.C.B . and R.B.

case W.C.B. R.B. Quadrant
1 0-90 W.C.B. N-E
2 90-180 180-W.C.B. S-E

3 180-270 W.C.B.-180 S-W

4 270-360 360-W.C.B. N-W

4 eng:Hadi Mohammed2020




:s» Azimuth ALK 5 ylal) eUA.’a ual i ?"i Ca

:Forward & Backward Azimuth (Alad) slai¥) g ala¥) slady)

(lbanl) 2085 ) Jandl 2085 olaily (o gunall o) il o) g8 (sl)aa ) ddads alal as

(lbaad) 2085 o) Jand) a5l uSlaall slaiVh o gunal) ) (uitall olad¥V) g8 (51)  aa ) Adads Cala o

R BA S 1a
AN
w ——E

N - \\\\ U
j;_\AB@\A |
! Backward = Forward + 180
O S) S 13 L) da )2 180 4al) ciliay € A )2 180 (e B (sla¥) oY) Lovie cdladla
N Ax )2 180 4 7 yhy € 42 1180
iy B
> ABea 3 La gl dlaill G semndl adll ya solad¥)
A _ Lalie Jladll (e 06 saall 138 caalal alag) callay
B Ac L) —t &
Iy ,, _ Ol (o sand) (aall o 1A88Y) A ) 30
AC /N8 . - - .ty .
AT:S % & e acbadl e e Jleldll e Glulia (e glaa
| @ =< BAC &3 4155 M)S\z\.iasa
A —E
A
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:Forward & Backward Bearing = A1) slai¥) g alal) slad¥

53 g (0-90) (i by s Al 3 lalai¥ cpa psill 13n 3 olaiV) Jiay seabel) (g3 2o olady)
oLVl A ey g3l ol

lalasdy Se &= u.uhsﬂ daally L;ALAY\ L;)S\a @Jj\ olad) judh o8 :_uim\ gJA\J &)JM slay)

N
B il
y W i E
l BE
W 2 E =
AR 5 il a0 slaTy!
. S........ w
ol 5 i1t slaTy

=N---E
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Computation of Directions for traverse sides W adlal Clalasy) Clus 3,k

~1 s LS5 (e alimal g Bl lalad) clual (liud ) Gl Hla cllia

-l 48y 5k )

Slalaty) 5 Jladll sladl Jiay aliaall YISl e ¢S IS (A @bl an )y Bl (e A8 Hhall 03¢ olad¥) Cila S g

j\) ejhud\ (ol cl.aﬂ Lﬁl;l\ 6:.1)5\ slasy| e\d';fw\_) < slaall cl.aﬂ ga\.a‘ﬁ‘ L5"’JM BN NN, f:\‘ s AY) A

A P
[ F
?

0 eng:Hadi Mohammed2020

Brg FH=180 - - AFH + BackBrgAF)}

A olaiY) o alaie Wl GaY abial (g jilall slad¥) Clual 3aasta (il 8 addiud -yl g8l 45 )b
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Solved examples

Example(1):
Convert the following whole circle bearing to quadrant or reduced bearings :
(i)42°30 (ii)126°15’
(iii ) 242° 45’ (iv)328° 10
Solution
(i) W.C.B. =42°30',Quadrant bearing

=N 42°30'E

(ii) W.C.B =126°15', Reduced bearing or R.B.
=180°-W.C.B. =180°-126°15’
= S53°45'E

(iii ) W.C.B. =242°45',R.B. = W.C.B.—-180°
=242° 45" - 180° = 62° 45’
=562°45" W

(iv) W.C.B. =328°10" , R.B.=360°-W.C.B.
= 360°-328° 10’
=N 31°50' W



Example (2):

Convert the following reduced bearings to whole circle bearings:

(1)N65°12'E (ii)S36°48'E

(iii)S38°18" W (iv) N 26°32'W
Solution

(1)R.B.=N65°12"E, W.C.B. =R.B.=65°12

(ii)R.B=S36°48E ,W.C.B. =180°-R.B.
= 180° - 36° 48 =143° 12’

(iii ) R.B. =5 138° 18’ W, W.C.B. = 180° + R.B.
= 180° + 38° 18’ =218° 18’

(iv)R.B.=N26°32' W, W.C.B =360°-R.B.
= 360° - 26 32 =333° 28’



YIS il ) ) A ) 300 Ayl A0 g 50 (el a3 ol alaall b s Jlke
ABC = 88° 20", BCD = 250° 15/,

CDE = 265° 25', DEF = 82° 10'

& AY) L shall Claladl aa 1600 00" = AB aluall olail ()l 138

:AB alall (e fai 1)

<l AB = 160° = AZBA = 160 + 180 = 340°
AZBC = AZBA + Angle to the right

AZBC = 340° + 88° 20" = 428° 20'

AZBC = 428° 20" - 360° = 68° 20'

> AZ CB = 68° 20" + 180 = 248° 20’

\XFF

AZcD = AZCB + Angle to the right = 248° 20" + 250° 15' = 498° 35'
- AZ.CcD =498°35'— 360 = 138°35' =»AZ. bCc =138°35' + 180 = 318° 35'
AZ.pe = AZ.DC + Angle to the right = 318° 35' + 265° 25' = 584° 00'
-. AZ.pE = 584° 00" — 360 = 224° 00 =» AZ.ep = 224° 00 — 180 = 44° 00'
AZ.er = AZ.oe + Angle to the right = 224° 00' +180 ° = 404° 00¢
. EF =404°00' +82 = 486° 10 = EF = 486° 00 — 360 = 126° 10
R &Mw clalas) -

AB 160° 00, BC 68° 20°, CD = 138035 DE 224000
EF = 126° 10
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25+12.30 (s skt PC dane CilS 5 dslaall Ll 5 511 48y sday yia 20 JSI (imdie Lalis] 2y 55 L) yim i
27+28.01 s s PT ddasa

Liall s | Station Tangent angle Single chord | Total chord
StP.C 25+12.30 00°00' 00" 0.00 m 0.00 m
Y Adaal) 770 (6. '
fiua.uﬁw‘,n 25+20 ﬂ:ﬂ:ﬂ D c=2Rsm(—) ¢, =2Rsin ¢
205 2 20 2
St(2) 11 25+40 b=¢+D ¢=2RsinD | ¢, =2Rsing,
4
| |
3l
j*\/ 27+00 4o=¢ D c—2RsinD | <, =2Rsing,
st(11) V 27+20 R =¢+D c=2RsinD |¢;=2Rsing,
: . (6
;:IL@# 27+28.01 ¢2=q1+%=¢1+%-n =% C=2Rsm(?) cn=2Rsin§
f o N

o
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:Tangent Angle Method dxulaal) 43 9) 1) 48 ;Y

WAl L L LAV &y N U P G 2 A
Station Dell. angle . Total Chord (m ) Single Chord ( m )
: £.,=2Rsin @ Un_l__‘
PC. = 37 + 6933 g oy 000 m 000 m
ﬂi‘
2R Sin — =
- 2 il
0 1067 0,
7 +80 . i X 45 = 20 24° 2 x 12733 x Sin 224’ = 1066 2R Sin 5 10:66
2 20 . - :
0, ' 2RSinD =
38 + 00 L 4D =22 + 40 = 654 25466 Sin 6°54' = 30-59 , ooy
2 254-66 Sin 4°30" = 19-88
i
33 4+ 20 L 42D = 654 + 4°30 = 11°24' 25466 Sin 11°24' = 5034 . 19-88
2
l"'Il.i
18+ 40 2 43D = 11724 + 430 = 15°54 69-77 : 1988
1 . +
0
8 + 60 L 44D = 15°54° + 4°30° = 20°24° 8877 19-88
2
0 578 0,
PT. = 18 + 6578 W 4+ L = 20024 + x 94-16 m 2R Sin -7 = 254:66 Sin 1°18’
2 20 2
45 = 20004 + 1°18' = 2147 =Cc = 578
ﬁ .
= — ;. Check
2
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Location from P.I Method abl&ill ddasi e Jassudil) 48y yla slay) o
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Types of horizontal curves
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:Simple Circular Curves Jaswall s il Aaial)
o) g3l s ialls Dalall cilallbadly ) ga )l

A _PC point of curvature w2l 4k
- Pl point of intersection aklaill 4l
- PT point of tangent (el 4ass
-T tangent length sslesll J sk
T -R radius of arc ssiell jlad Caias
- A angle of deflection
ol Al A S pall Al 1) Gplaall cp ALK Gl aiWY A )
(REN
- C length of long chord sl J sk
PT- E the external distance 4 jlal) ddlual)
- M the middle distance adaw sl ddLuall
- L is the length of simple horizontal arc &Y il Jsk
- D is the degree of curvature for the simple horizontal

(e Vo alsh (g il Al 4G S sall 45 5) 5L oyt 5) sl A o

e il 38 e (e J3U 3 gaad) alsial e (E-M) dlall s
(PI) adolail) ddass s g i sl
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*Ex:A circular curve of (200 m) radius is to be set out between two straights having
deflection angle of( 36°48' ) right .Calculate all elements of curve.

sol

(L) siniall J sl oloa

_ 7RAC _ 7*200*360 48 _
L=y = e =128.46m

(T) laall J gl Cliuse

0 1
T = Rtan(%} _ 200*tan[36 )48 J —66.53m

:(C) sl Jsha e

0 1
C =2Rsin[%}=2*200*5in(%}:126.26m

+(M) Ak sl Ziladl) Cluane

M = R(l— cos(A/ZD = 200{1—005{360248'}] =10.22m

E=R

1
cos(A/z) -

(E) doa Al Adliall Cluse

1/=200 1 _1|=10.78m

36948
cos[ /2 J
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Cueal &iStat P.I=56+50 dasall 5,117m ssbew Cisl dshase 5ia 10 ssbon D J Jiaall pagall Jshae
sniall dand Hl) Gllasdll 28 g0

:Jad)

D _360° _, _1800*10m _1800*10mfi élg % jrtﬁug 30 La_laia 4y ) 31 Jilaall L sill J shae

10 27R D  7*30

NENERS R EENE

C
s%%%é: A=35° 40' 21.49"

_7RA® _ 7*190.99*350 40'21.49 _
L= 1800 = 180 =118.91m

0 1
T= Rtan[éJ=19O.99*tan(35 40 21-49] _61.451m

LT,EM (s JS aai

2 2

M = R[l—cos(A/ZD:190.99[1—cos{350 4221'49H: ...... m

1

1
—=190.99 —1|=...m
{003[350 40 21.49/2] }

Stat P.C=Stat P.I-T=56+50) -61.45=55+88.55
Stat P.T=Stat P.C+L=(55+88.55) +118.91=57+07.46



5 AB olall Ly odlladll o Bake AZ.Bc=00° 00'00” <AZ.AB=90° <ABC aladll & ;Jla

BC alall Jiay LudcBake tangent aall pladdl  AB - alaall Jiay Cusy ddasy g 51 Jaias BC
M the middle distance B 4kii 4P| point of intersection 4k «& o« Forward tangent
Station B =56+08 .4k a8 sa: IS 13) Sl jualic Gaual ¢2,.3432m = dsdass ) ALl

T =S B=—pP1

A =\‘_|_-_'1-..'a‘_b‘_)_h-“:g)‘)u'~;u_-;

M M=2.3432

T= R tan % =8 tan 45 =8 m
L=R*a ___,=8%00" = 12.5664m

Pl = = 56+-08

JT

180

PC = PI-T =(56+08)- 8 =5600 =56+00

Pl=PC+ L =(56+00)+ 12.5664m~ 5612.5664 —~56+12.5664
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Adjustment of Traverse <lalaall gl

4 gnall g) Aiiial) dagll) — ALY o) A8 8AY) ) Ay Al Aall) = daS (oY pmaualll Gl ) e
(Uaddle =pnaill ) S s fed LAY Sty g o) (5 glow il 4

Llas clilal)iasias alihal I doa gl Lgie (apadl ddee V) dale Claliadl) s dlee )
48 5( Lat)i sl il yall e alaie Y4 Lplua ol clilaa¥! ol La sl sl 7 sita alizadll
LS yall el b Uadldl e Sh clilaay) 8 Uadl) o) gle alal) @l o dday )l ¢33 (Dep)
Al e ol Bl Uadll ol yay ()2l geaalail 5 aliall Jgha (pae(lS pall) Loy s aat il
C_\M.J\L_A_Mﬂhj (89 e oA KRN e A Jae LE\ 3ale gedundlig dumulag

- ‘)SLMLB)LOJQ&L&‘}

Adjustment methods:

— Compass Rule
— Transit Rule

— Least Squares Adjustment

) eng:Hadi Mohammed



Adjustment of Traverse

Lalasil J€Y) i Compass Rule alaa gl 48 ylaq

(g 2=y
Jsh g sana | alaall J k) * 4881 LS jall (KU mymaai jliia = alial (Dep)iusy) 48 jall mosaai
(g 2y

Correct.Dep i=T.correct in(Dep) * (L/2L)

Correct.Lat i=T. correct in(Lat) * (L/2L)

Y eng:Hadi Mohammed



=18 ke B gy cililaaY) graal LeIMA (e (Sa Abas TN ALUS (San g

¢ 5..55531“:;..1_}1__91;.*31 £ _geada

AR s yall Sl | =adaiil  ga w2l ,,E,,:Laa.‘;‘.' il

Adaisll o ) ska¥) £ gada
Ao 1) LS pall ST ot pT4 e5om JsB &

=Adakl Jeadlll (Slaal gl
-1 A Aapay o Gl AUS (Say

Akl Ao ) skl g pana
i) p20a! 1 skl £ pana

.j-_,.l--'J Ty I}-j'_.-l"‘Jl .I”I-,‘“-,I rEJI?r_H_._.:JI X

=ihbyl ) sl mauall
e cmd 50y Tl G 2L L S sl

ARE S )l shy)
s o) atll Sy K ) X ‘-’adﬁ? L
(e ) s sl 2o 2L Ll gl J) gkl £ g

Akl Ll E,:u.-.‘; il
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Adjustment of Traverse

Transit Rule < ¥ il 48y a1

- Y Ll mnatll () oSy

L il () g

4.6:133‘) * :Lmjmj\ t_il_&).qﬂ LASM("*)L“’Y\ u.uSa_ﬁ Uaaj\) C_\MSJ\AS.A = (d...al (Lat) Mdj.uj\ Z\AS)AM ool
(5 DD 40 gand) L jall (Bllae & gane | A gand) A8 jall dslhadll

|Lateat |
> |Lat g3t

* AEY) LS jall KI5 L3V ey Uadll) ama jloie = aliall 8Y) &S yall prmas
(5 DI A0 sendl LS jall (Blas & sema | 403 sandl A8 jall dalladll dagll)
|Depa]
3 [bep =7

Correct.Lat i=T. correct in(Lat) X

Correct.Dep i=T.correct in(Dep) X

Loael] asill & gene Siasi ilhadl £ sanall Lol L3 ) ot el dauil) dilhaal) dasil) fiai- -4Lin Lo
5 L) o p LS pad




=18 e B gy cilfilaa) gaali LA (e (S dduay & WY AUS (S g

U
il JuY 8l

e
s

=ik 4 el radd
sl 41 A8l gl p g J”“‘]*‘“?C

MI | hiﬁ' {}5_][ f.b“'ﬂl
2l fudd) o

LRI
”ﬂ”euj Xﬂﬁﬂﬁubl_ﬂk_lﬁ_}m‘j&‘ﬂf}m
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Corrected Lengths and Directions of sides EMM daaaall <lalaiy) g JU-EY‘ S IVES

& S daaias Jlshl I Jsa sl Lgie Cargdl dolae W1 dale 4l 11 5 4881 LS jall memiai dplee ()
Oe Y ellale clalai¥l g sk s Lgie iy S jall @il maaill dlee ) shidanian cildilaal
Laaay Sy Laliill damia lfilaal) dde 2ilecilS jall st dulae 2ay GlalaiY) 5 J) sl Glua 3ale ]
ki gl Claliaal) @l dalie lus dlSa) by g a8l 1) 3 o) Jail jad) e Lalial) ol x8) ga p2a3

dal lasad 10 45 4 Dep

il
iyl
hasuadl
gt
Lat /

racd 4300 AZAB

Coor.length AB

.

A (corr. EA, NA)

L) el Waoasd 3 ol Y

B (corr. E8, NB)

AB gl inasad) i) it )

1
A.Zxg=tan ( .
gl AB sall Aaaadl Auagatdl At

Dep.coor of AB )

Lat.coorof AB

=1 CorrEs
Corr.Az of AB = tan

AZus=tan (

---Corr Ea

Corr Ns ---Corr Na

(sindl 5l Jaiill) aa_gally adiall G ol il il aiedlin Sl
lein s (d8Y) 5 L0 garll LS pall 5 L5 JLEY] sy g af 0 g
ah_ry/ U"“'/J c;""JJ/ ala.ry/ 4..4.13}6 o..)la.r/r«.ul..a U/ &/bﬁa&// ob.ﬁ//

. JalS/
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-1 NS (R 9 Gk Bany Johal) Gl (i) sl Gl dailly Lal

AB glall dssaal) dgpanl) A5 4l AB &l dasaall AEY) A all
—_— = — e = ABAL sl il
cos Alxs sin AZxs

Zm..a.q.// JJLJ/ ERIIVEN Lgfumj/ ola7Y/ ';M&!—‘LAA)LA

= 1} (Dep.corr.of AB}z + ( Lat.corr.of AB)Z

CorrEs —CorrEa  CorrNs —Corr Na
SIN .corr. AZof AB ) COS .corr. AZ.of AB

ABrlall maaall Jshil S

2
| CorrEs -Corr Ea ]2 + (CorrNa —CorrNa |
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Example: At a closed Traverse below Calculate each of the following: -

1. Interior angles corrected and the corrected Directions for all the sides, quarterly
directions.

2-Lats and Deps and total correction of the compounds, the relative accuracy of the
work.

3. Correction Lats and Deps ,by:- Compass Rule , transit.

4. Lengths ,directions corrected and the corrected coordinates.

L point Int.angle Side | LENGTH

(M)

245°34'28" | KL 452.47

30°11'15" | M 886.12

38°59'30" | NO 483.55

232°10'52" | oP 412.85

K

L
M 132°00'26" | MN 392.18
N

0

P

41°02'36" | PK 279.43

B.AZ.kI 201°06'05"

A eng:Hadi Mohammed



dasiaal) ALl 4y yilal) g Ay ) clalaty) g Aaauaall datdlal) Ll g 3l alagl-

- - - " "ﬁ@ : . ; Wﬂ@
L1 W30 I astIT, C, = (6 2 2) 180 - 719 50 07

- Corr. / Int. angle = a0 =49
=720 - 719 59 07 = « 53" 6
il | L At & it | pread | ooall Ll g )l oAt & @ oY s .t,_éx}f
Point| Int.angle | Corr. | Corrccted Intangle | Side . Brg Azimuth
K2 3¢ 28 | +9 245° 34 37" KL | N21° 06 05E |21° 06 05
L | 30° 11 15 | +9 30° 11 247 LM | S50 17 W ;10 1w W
M| 132 00 2 | +9 132° 00 35" MN | S03° 18 04'W [183° 18 04
N | 3¢5 0 | +9° 380 59° 39" NO | N42° 177 43"E |42 1T 4¥
O [ 05l 232° 11 00" OF | 585 31" 1B | 3¢ & 4F
P ojoarny 36 | 49 4° 07 45" | PK | N4a 28 32w [315° 3 ¥
T =719 59 07]E=+53"| £=720° 00 00" | KL | N21° 06 05"E E
.. check [For check /ﬁ ol
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“ e

. LS yall Zaaualicdan gaadl g 4488Y) il jal) Sl -
d_&ll J,ldt ,‘;J,'.LL“ NP sV LS Z...._..lj!l i SH C_)' eV
Sidc Length (m) Azimuth Dep. Lat. Brg.
KL 452-47 21> Q" 0% + 16290 ¥ 422-13 N 21" 06 OS5 E
LM 886-12 231 1y I — 691-47 — 554-14 S35*° 1T W
P
MN 392-18. 183 18 04° — 22-58 . — 391-53 S03° 18 04 W
NO 48-3'55 42° 17" 437 + 325-40 + 357-68 N42* 177 43" E
o°P 412-85 94° 28" 43" + 420-56 — 3294 S85* 321" 1T E
PK 279-43 315" 31" A8 — 19577 + 199-39 N48* IR° 3 W
- : e 8-8 . :
Rt i ?,39.3?,_ I = + 97920
= 096 — 97861
iy Z=0.59m
STC. = 4+ 09%m|. . TC.= — 059 m|
. :
X / Deps./=1818-68|X / Lats./=1957-81
s Zeyee m Slas pye m

Relative accuracy =

sy Uadl)

daal) gl g gana

_ 40962+ (0592 s

(x_dm_\j\ A\_A,qgj 4 :.hn.\“ AQ\“ J\\\\ -

2915.6

eng:Hadi Mohammed
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Ada gal) 3acld (B dasiaal) cldiaaYlc clala®)c J) skl Aaaiaall 433 gand) g 4831 LS jal) Gl -

T e . . - —
aan | g LSl el 50 c.«...;JI ._.._w*. WAL ag | o Shaont | ol Gl M | g
L8yl el sl H gl gl |l g
Correction Correction  |Corrected Dep. | Corrected Lat |  Corracted Corrected Corrected Corrected
Point | Side for Dep. for Lat. E N Brg Length
i 100000 | | 100000
KL + 015 - 009 + 16305 + 422:04 N21%7" 24°E 45244
L : 116305 142204
LM +029 | -018 - 69118 | - 55432 S51°16' 14" W| 88600
M + 47187 86772
MN + 013 ~ 008 - 2245 ~ 39161 S03° 16 52 W|  392:55
N |- | 44942 47611
NO + 016 - 010 + 32556 + 357-58 N42° 18 59"E| 48358
0 77498 83369
OP + 014 - 008 + 42070 - 3302 S85°30 43 E| 42199
P 119568 800-67
PK + 0:09 - 006 - 19568 + 19933 N 44° 28' 14" W| 27933
K 100000 100000
Tm 409 |Tw =09 |Zw +9093 |2 som9s] .| .
£l 31 — 97895 ('{c:mclctl Ep, = 1000.00 + 163.05 = 1163.05 .
| Z =000 I=+ﬂpﬁt},_}f{1 . Corr. N, = 1000.00 + 422,04 = 1422.04 m
_ +096 T
Correction for Dep. ki -W X45247=+005m o Depe=+ 015+ 16290 =+ 16305 m  fesgend i ) s 2ad ) iy

el dadil s Aol cilus wll Cpag

il p3bal o a1 macall | el g




LS 3l Bas @ ééJ dasiaal) cldiaaYlc clalai)c J) skl Aaaiaall 433 gand) g 4881 LS jal) Gl -

d Sl et | Tl e o LIV sl AN IS |Gt Gl g G
‘Tzt | AW ‘_‘"' S P »

! =) ot L Y e 7 e all ——alt (-.__-n-_.,n&\
Point- | Side-} Corr. for Dep. Corr. for Lat.| Corrected Dep..| Corrected  y ¢, Cortéclcd Corrl?:lcd 3
g 100060 100000

KL + 009 3 — O-13 + 162-99 + 42200
i " - 1162-99 1422-00
LM + 037 — 0-17 — 691-10 — 554-31
™M : - 471-89 867-69
MN + 001 — 012 — 22-57. — 391-65
N 449-32 47604
* NO + 0-17 — 010 + 32557 + 357-58
O 774-89 833-62
opP + 022 — 001 + 42078 — 32-95. 3
P 1195-67 800-67
PK + 010 — 006 — 195-67 + 199-33
K i 1000-00 100C000_
e T R - TR e oo
— 909-34 — 978-91
=0 0O 1| = ooo } [
RS (S RN SRR (S i ,'_ B [
+ 0.96
Corr. lfor Dep. L. = X691 47 =+037m - Dep.c=-691.47 + 0.37 =- 691.10 m
1818.68
: g - 0.59 :
Corr. for Lat. ; p1 = X553, 14 =-0.i7m .- l.at.c= -554.14-0.17= - S51_31
1957.81

Corr. Ex1 = 116299 - 691,10 = 471.89 . Corr. Ny = 142200 - 553.31 = 8367.69

ﬁgjug@mémd\ d\;@é_p}ud\ o) 48| LL\L\SJAHL.;J.\;J\ EM\-&;L
> Lat=0 ) >Dep=0

VY eng:Hadi Mohammed



Closed Connecting Traverse d&.d\ bl ) aldaal)

Cradl) I Ansaall Uhg 315 aglaall oW1 olai¥) aladinly cilaliadll (g g il 138 8 cilalady) Olus 2L
gl Sl olaiVI (g gl o) gy 130 gl olai¥) s JYA (o aliaal) Raa (g G Sy,
lual Blaall aliaall cilbua g Lasdioal) Gl 8l i 233ty Janal) 5l o sbeal) Jilgil olady)
Alblaa g J ga¥ g alsS yall

Y IR e aln s el L3 s -
>, Theor.of angles to the right=Known AZ.f - Known AZ.i +n.180
T.C. for angles to the right= 2 Theor - 2> Measured

_‘_;;‘}[\ DA Cre ol ?:uj t_ij.-.ua.d\ (;_;1\.@_\5\ LS,)J\AM slaiyl— 2

Computed AZ.f=Known AZ.i +2Measured angles to the right- n.180

T.C. for angles to the right= Known AZ. - Computed AZ. ¢

VY eng:Hadi Mohammed



Closed Connecting Traverse QM\ L ) plaall

-+ Lladll caldlaal g & Y LSyl L“;Sj\ GM’.'J\ -Y

Loa oty (U b 4 Giay () cang Fpmeigl) s Al ) Al (o Tagms Jal )l bl (585 S
estaal I 5y il sl — s gladll Sl 3y il Slaal= adoaddl ¢ OmY 488N LS jall 5 uall & sanall- A

>, Deps =Known E. f.- Known E.i
astaadl V) Jaaiill Haa) — o glaall Jledl) Jradill  Slasl= aliaall ¢ Y 150 seal) S jall (5l & sendl -B

> Let s=Known N. f.- Known N. i
VS el Gloa (S g3 odle ) Gl il 8 ol sbiy ik () el e b Uad @llia ol Lags

o) oyl Jias) — 4 slaad) gl il JSlaal)= (G sl coldlas) ) Ay il jall ISH ol -
AsY) DS yall (5l & sanall —( o slasll

(2snell SN 3y il Jlas) — o gleall Al 3y i1l Jlaal) = (5 gl
oV daadilll Hast — o sheall Sl Sl JSlaal)= (Jaadill cildilan) oY geall i€ all SN momial) -
A0 garll QLS Hall (g yuall £ senall —( o slxall

(smenad) gl Jpail) JSlas) — asleall Jilgil) Jpalill JSaal) = (5 b s
—:dnl) 48l 5 lal) Uad -6

2 s L s B 2 = R L3 - s b
(.._1_9....;:.\51 Jﬂ.u...r_lﬂ ?_11..1:1] -_::._95.1..15] ,;_;_.*l.ﬂ.u'_lj‘l ?4]h1:]- {.-_1_9....3..151 ﬂu“.u'_]j] -'..,-.-_ﬂh] -,::_9.5.1.:.15] ﬁ“‘u—r_‘j‘l ?_1]..‘:;1:] =J3351 9} :

i) Lt = bl Aot Fyaeal] 23411
ii"'h'“ﬂ 1 gl & g -~ . .
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Example: At a Link Traverse below Calculate each of the following: -

1. angles corrected and the corrected Directions for all the sides, quarterly directions.

2-Lats , Deps and coordinates , total correction of the coordinates, the relative accuracy of the
work.

3. Lengths ,directions corrected and the corrected coordinates, by Compass Rule .

;DA
¥

™ )
AZ AJ=188 31 52

° !
- AZ AJ=35 20 12

Yo eng:Hadi Mohammed



Aasiaall Ll 55l g osaill dad s -

1 = i

Point | Angle to the Right Corr e i o

Angle to the Right

86°31°58" + 37 863201

J
K 223°54°08" ‘ i 223°54°10"
L 114°46°50” - 3~ 114°46°53"
M 141°35°14" : N - = 141°35°16"
> — 566°48°10” B G T o > — 566°48'20”

S Theor. = Az.F- AZ.;+ N iR =35°20° 12.;"'; i88° 31° 52”7+ 4.180°
= SG6° 48° 20”7 Theor. S

.. T.C. = X Theor. — X meas.
=500 48’ 20 -.566° 48" 107
— IOII
. TR R
Corr. / angle = — = 3

eng:Hadi Mohammed



Apoil) 281 g 1SN mamaail) gecilian Y] gecil€ jall gedanaaal) clalaiyl o -

Sl Kol IR P U BV PPN (I PAYTY BPEIRURNPAYT LuY1 s N s o2l (St
W~ g L
Point Side | Length Org. AZ. Dep. Lat. E N
A .
Al S 08°31°52° W | 188°31°52~
J 300000 | 300000
JK | 34695 | S 84°5607" E | 95°03'53~ + 345-60 — 3063 |
K 3 334560 | 296937
KL | 44976 | S 41°01°57 E | 138°58'03~ + 29526 — 33927
L . ' . 364086 | 263010
LM | 14482 | N 73°a4°'s6" E | 73°a4°56~ + 13903 + 4053 _
M 377989 | 267063
MB N 35°20012°E 35°20012"
T= + 77989 | == — 32937
.B

T.C. for E-Coordinates = 3780:32 — 3779-89 = (378032 — 3000) — (+ 779:89) = +043 m

T.C. for N-Cogords.= 2670

Rel. Accuracy

AR%

eng:Hadi Mohammed

‘18 — 267063 = (2670-18 — 3000) — ( — 32937) = — 0-d5m
J(+ 043)2 + (— 045)3 " SR
941-53 941-53 1500




& - - =3 - . 4 R
: Sl e o | & ""‘“'H St Jlasd l et Jlast] medalEY :
=~ <, a5} o) == e o—all ' s u
e ) Go s Joot2 ca--.dl W& e
Point | Side E ™ Corr. E Corr. N Corrected E | Corrected N Brg < Length ©
R el T —
J 300000 JO0C-00 OO0 000 OO0 00000
IK 5 B4'54°15" E 34T-13
K 334560 296937 + 016 - 17 334576 296920 _,
KL S 4170203 E 45005
L 364086 263010 4+ 36 - O3B A641-22 262972
LM M 73"46"'55" E 1448
MM ITT9-89 2670063 + 043 — 045 A780-32 267018
+ 043
Corr. for E‘L - W > ( 346-95 + 449-76 } = <+ 036 m

2. Corr. E;, = 364086+ 036 = 3641-22 m

Cers. for N =

" Corr. N

Corrected Brg. of KL = tan~!

Corrected Length of KL =

— 045
941-53
2630-10 —

x (34695 + 44976) = — 038 m

3641-22 — 3345-76

0-38 = 262972 m

262972 — 296920

- 262972 — 2969-20

Cos 41702 037

= 45005 m

eng:Hadi Mohammed
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Galial) o ) aldaal) (A AW g J oY) Cpalial) Tl cildfan) Jaad o Sagmrddiadla
SR (pe dlld g gliall aldaall Al dacaual) daluwal) slag) Qullay o Say LaS
Aasaal) aldlaay)

laloadd) (8 W 3l cililid) (8 e Uad DU dalall cilial gl

Minimum Closure Accuracy Standards for Engineering and Construction Surveys

USACE Classification Closure Standard

Engr & Const Distance Angle
Control (Ratio) (Secs)
First-Order 1:100,000 2N
Second Order, Class | 1:50 000 3N
Second COrder, Class |l 1:20 000 5-\.‘P~IJ
Third Order, Class | 1:10,000 10-vN
Third Order, Class |l 1: 5,000 204N
Engineering Construction 1. 2,500 GO-vN

(Fourth-Order)

' N = Number of angle stations

)4 eng:Hadi Mohammed



/ :\Volumes agaadl

8 4 sthaall 48l 5 alin glhadll anall de o e lalaie) o saad)l Cluad dalis (3 5k g dala (il 8 clllia
b Lo (3l 5 i) sl Qe g ecalual) (52558 giall il slaal) g bl

:End-Area method ¢\l Jaw gia ¢y gild |
e;;_au.\.dh.mu.\xbs.a&\u.ueMJ\Mmcd@bw;b\m\w\jﬂ\)ﬁ\wuyu\\&)4.1:_1

YVl iy il ol el Alls () (s pdaliall (e daxd JISH anall alall o il BUEREN (il 5 ¢l
(Y slaall JKEI 3 (e WS 5 A jall adalial) (e 20as d2a] K aaall

¢
4;;@\ 3okl (528l 4 susnall L jal) ealial) cilaliss & A L AL A, O o 1

. ; |_1+2 Aﬂnil%k M\ O:LJ 43{33\2‘ QEMY.@ L4?5, co ey L2931 Llézj.
m 3 vol,., = Lb{ . 15 sl (plliie (pmdaie JS (a3 ) aaa 8

— e vol., , =L, {MJ
( ‘ A4 n ~

1 L3.a V I 455 — L4_)5( 2 'A‘éj //;/

m — Total volume |5 = (Al A +A2+A5+Aj 7
‘ I qujmjmumwgﬁuﬁdswmww\u;}&
/hs N\ IS aal) (L ¢l il (e () 2al Alall (il Ll

15 sl

Total volume 5 = L{Al;An+A2+A3+ ..... +An
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(Q\AM\&FJA@BJJSM\Z\AM\uwu)ud\mimwm&uyw\\JA})

S il 3 e paal ) GoSally i iall ) ol Al (o il g 5 a3 i (IS 13 Lo

b LSy IS aaal (5 585 138 5 ¢ gl Adlosall (5 sbosy 40 ) 5 ol Aalosa (5 5o 4323
:oUJidS.aﬂ\

pll phaie dalis (2 AL ) Can

Vol =—3—*L

And

:%*L

A2

A

VOICut

Cpadaiall ( Adlial) o |y j8all adafie dalue Jiad AC o) Sua
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:Prismoidal Formula (s sl ¢ i@
dda w5 Adlin) adalie Nivie 35 3l () i) aladinl vie dgle Laa ST A8 Ll il el 4 s e Jgaanll 3y i 13
Gl IS 8 i g 31 adaliall et @l g ccicaill ) alie] Cpradaie JS p Ailsall JIS 5 alie Y adaliall oy
Lﬁi)LjL&kﬁA}AAZ b.ks.nj\ u\ JL-G-‘:‘JA?)‘}A]_U,-}’-LSAMQ;‘-’@\)-‘M L_AAASM?AA&_LNAJ”} GZ\ALuchuAuQBJhL

n L SY\S ‘(ASJAld,gliéw\( batie b
Volume 5y 5p3 = T(Aj.-i_4A2+A3j

A s Ay Ol Gaxdadall Aol 138
Volume g5 s = 2_6|—(AE+4A4+ASJ

L AL AL O S aaall 551384
Total Volume ;s »e = %{Ai+'°5+4[A2+A4]+2['A3J T

Total Volume ,, 5, =

058 O oy 4 sl <l i e saee V) aladinly daliall aluald () surans 3acla) 4lin o 38 134
L clalodl aae



el Asadl) cilaliss ) Cuncaa Hll g iall s 8 i€ 3y jlaldpia o adalie At Clalies Cna ;Jla
6 skt g a2y Alla 8 Y

A =24m? AL, =18m? A, =21 m? A, =12 m?, A = 4 m?,
(6 sty ia Alla b CilSh o AV dry V) adaliall cilalie Wl

Ag=Tm? A, =11m? A =15m? Ay =23 m?
Gl alaiinly adyll g sl S aaall () 9K aSE ¢ 31 100 5 sl AT 5 adaia JS G ALl cilS 130
Gllee e Al 4l GlaeS Caal G S Jia (S e g bl 2 HA e (o yids Al A il Jlee S0 SN el
(Y 59 3n) 5 4 53 (g0 canll jiall yas o)) Lale (H WA ) it 008 s call dalls ye jaal)
Prismoidal rule and End- area rule

+A|§5*L

1- Using End- area method

Total volume ;,, = n
AFlZAF5+AF2+AF3+AF4

L

A 3 = 100(24;4+18+ 21+12]+%*100:6633m3

Total volume ., =

g

%6;%9+AC7+AC8

2 3

eng:Hadi Mohammed

U iall paa = 100[7+23+11+15}+Z*100=4333m3



2- using Prismoidal method
Total volume ;, = (100/3) * [(24+4) + 4(
18+12) + 2( 21)] +[(4/3) * 100]
= 6466 m?3

Total volume ., = (100/3) *[ (7+23) + 4(11) +
2(15)] +[(7/3)*100]
= 3700 m3

eng:Hadi Mohammed



Example:- The table below represent the final

cross-sectional areas A1,A2,A3,A4 A5, calculate Areal No. Valzuzeég] 2 = ‘i'g(t) —
the volume of earthwork using the “Average End '
Area” method and the “Prismoidal” method, 2 24.38 |= 100 m
Simpson's Rule 3 65.12
|= 100 m
4 11.18
|= 100 m
5 7.02
Volume by - 1:263
mean area=
Volume by
Simpson's =10079.33ms3
Rule=
Volume by
Trapezoid | =10079.33m3
method=

1 eng:Hadi Mohammed



Approximate method for computing Volume from the profile .- shll adadall (4o anall Cluad 4y jail) 43, Ll
o) (S Cumeta sl hiall 5 38 Il il e 3aT 5 pniar (31 (3 5S5 Losic: sl lual 2 bl 038 0285
il S 136, LT 138 Lo 53 51 il S paall o (s L5 2 s Talia o350 ) il il s

(Ve) siall JIS) paal
&’JJMJ\ Aad) dalie st ) (S
B yhas 5 pm S 5iaaSLl pla3EL
Sar g Lein m sl ddlaie 48l
aall T il Bandl il

dc(in m)=AC/|_C

5% et

0.0
000

5 simsal) adaiall dalioa ) 56 alily ) adiall Galine
ac=dc(bc +sc* dec ) (in mz)

Ve A9 aaall o Jpeasll (e 130

eng:Hadi Mohammed

Ve=ac* Lc(in m3)



Example) The table below represent the final cross-section for road having bed wiath (b= 20m)

Station Cross- Section Area Area
Left C.L. Right [Fill(m?)] | [Cut (m?)]
0+00 418.75 0.0
1423 | f1.65 f1.0 0.0 C€1.0 C3.0 C3.75 ¢ ¢
13.3 10 = 0.0 10 13.75

1-Compute areas of cut and fill at station 1+23 by coordinate method.
2- Compute volume of cut from station 0+00 to station 1+23.
3- Compute volume of fill from station 0+00 to station 1+23.

A eng:Hadi Mohammed



Solution:
1. Draw the cross- section.
2. Assume the coordinates (as shown below) according to the depth of cut and fill in the table.

C2.75

C3.0
C1.0 _10 13.75
0.0 0.0 K
= _

,‘_’;.'.- ‘ — o

= : T20m—*
- f1.0
f1.65 10

13.3

Total area fi//in St 0+00 = 418.75 m? ,Total area fill in St 1+23 = 4.7 n¥

Total area cutin example 2 = 28.1n¥ the distance between two station equal to 123m .
then by End erea method
A1+

Vv

OI1—>2 - I'1—)2 2

Total volume ., = [123 * (418.75 + 4.1) / 2] = 26005 m?

And total Ac
VOICut _T* L

= (28.1/3)*123 = 1152 m?

q eng:Hadi Mohammed



130

120

110

106.7

130

120

/)

L
N
|

\

Example 2: A reservoir of depth 23.3 m,
calculate the volume of water that can be
saved in this reservoir, if you know the
following data, the contour line of the
surface of water was 130 m when it is
filled and the other two contour lines 110
and 120 were plotted at different stages of
spillway of water and refill the reservoir,
the area included within these three
contour lines were 1100 m2 for 110,
150000 m2 for 120 and 610000 for 130.

\_/
\Volume by Simpson's rule = 20/6(1100 + 4x150000 +
610000)=4037000 m3
Volume between the contour line 110 and the bottom
233 2 of the reservoir with depth = 3.3 m will equal to 1/3

A
33

x1100x 3.3
=1210 m3

Full capacity = 4037000 + 1210= 4038210 m3

eng:Hadi Mohammed



Scale 1/50

(m)

“ Eleyations

n

52.0

91.5—

51.0 —

20.5—

49.5—

49.0—

n n

N

in ]
| |

Compute fill area and Volume if you know (b/2=8m, s.d=2/3)
(H.W)

()

(2}

0+

0o

0+10

0+20

eng:Hadi Mohammed

0+60

I
0+70

E
Stations



Compute Volume btween cross sections ?

EL=30,5m
10m ! 10m
I ‘2
4 g '
|
EL=22.5m M
st=102

eng:Hadi Mohammed



) o yhall
Ay 1 Ax 2 Ay 2
73 or H:I 5 T°7 » Ar =10 nx=Ax+10=20
B URE RN
Ax 3 10 3
ﬁ_}.zi ) ﬁ—y:I o ﬂ}‘:'lﬂll.'ra 'ﬂ}‘=3.33m

— S S CJ:.B.A\ Gilflaa) U ALY (s ghse AMLSL O5Ss Ladie
—20 0.0 4 20 10 —-10 20
35 ° 35" 38’ 3333 '30 " 30 ' 35

1 SV LAY () S8 can el gl ) e s oLV e (5 65 Ladie Wl

-20 0.0 4 20 10 -10 -20

5"’ 5’ 8’ 333 "0 0 " 5
224 = | -136.67- 2133
A= 17497m"°

Xy eng:Hadi Mohammed




Sol:-

st 102 o L
i * :
sedlall T 0 oy oDy fy=2m 2x=0+10=32m
by 1 55 1
, . Ay 2 Ax 2
oe¥taobl oD oDy = 21 =18m
by 1 b1

IS (585 adaiall fn] Ol ) 5 s AMLS.L (05S Lodie
10 18 00 -4 -32 -10 10

3057 265" 265" 225 725 7305 " 305
1 SYIS ClBhaay) ()5S caa el gl diu) mha s fLEY) mdaw 05 Lexie Ll
10 18 0.0 —4 =32 -10 10
00° -4 -4 -8 '-55" 0 00
~2A=]—90—327| # A=2085m’
Volume of cut =(1/3 )*A101* Dist =1/3 *174.99*100 = 5833m3

Volume of fill =(1/3 )*A102* Dist =1/3 *208.5*100 = 6950m3

)¢ eng:Hadi Mohammed



e i
h],; ‘ h. Volume of a borrow pit aiall dabue s ) 58
7 boia gl adliall ) il o saall alag 48 jlall o8 addins
M‘L}M&s dj\AUAM\ o&elu_uac 3 ole !
g S ) e 325 e il Al JS5 a5
S T— F e dsanll (S @llhy e ptall 2z s jiall Jd Cilay sl
e I OSa iy, Sy sl S ) o 05 JS b iall (lac
A | st el dabie @ pia DA (e SN jeall Gl
h? LY h4 e JSaal) Bee dau sin i sl & gana
A
h hy, h
= " 2 +23h2+33h3+43 ha
h1 h2 ho B V.C= ( )

Slag pall G e S IS jaall Blaele h1,h2,h3,h4 5 caslsll apall dalie =A () s
axiin 38 ge I gil) e aoyl g G g (45 ya s 3 5 el jiall (Gac Jaus gie olua 8 AS yidll
aan o e (o) paidia 6 LA OSar G sbid) aas il Lyl 45 5kl o3
oY) (8 Oare Qgaia ) Cpxa (addie a1 A U Al il oY)



18 14 1.55 1.6 £16%16m a5l a yall dlaal () Lede e calel il o 5 Caniliall
:Jadl
16 1.67 1.8 1.8 -
- Zh1+2>h2+3>h3+4>n4g
v.c= A ( )
1.4 4
15 1.96
13 204 1= h1 =1.8+1.6+1.3+2.04+1.96+1.8 =10.5
2 = h2 =2(1.4+1.55+1_6+1.5)=12.1
3 = h3=3(1.8+1.4)=9.6m
4= h4 =4(1.67)=6.68m
10.5+12.1+9.6+6.68) .
v.c= 256 ( - ) =2488.32m

eng:Hadi Mohammed



aall adaiall Aaial e culd laiag s e slaa (W) o Jae S 1)) aje adaie Aalise s
s( > )+n (h.b+h .s)

A=
nz- 52

() Jadll alie=S
({2 okl i A
Om - bm AR chm UA,)‘::b
— o L Y1 e dliecn

I | =32.00m

J] 5m
4

A=[4(12/2)2+122(5*12+52*4)]/122-42

3% eng:Hadi Mohammed



ewca‘)muj\jcw\ﬂ\huugé\ UAJY\GL‘AUMAM B \J\Ga.a‘).c cja.ué\a\_o.u\uh»;
2 2 )
2n1n2s+n2s -n1s b2

(n1+s)(n2- s) 4s

A= —th —} (

(Hal) Juall alaa=S

b el ) adadll £l l=h
L) mhaw (2 je=h
JsY) sa ¥ Jwe plae=n1

(?)(;_'m\ oY) Jwe alae=n2

A=1/2(5+12/2*4)2 [(2*10*12*4+12*42-10*42) /(10+4)(12-4)]-144/16

YA eng:Hadi Mohammed



afieal) o Aalaa aadin: Jall
%=(Y2-Y1)/(X2-X1)
%=(Y2-0)/(X2-6)
4Y2=X2-6............(1)
1/12=(Y2-Y3)/(X2-X3)
1/12=(Y2-5)/(X2-0)
X2=12Y2-60 ....covveen..... (2)
(1) Halae (X2 (o L g
4Y2=12Y2-60 -6
Y2=3Y2-16.5
Y2=8.25
X2=39 oA

R

6m - 6"\ A

ﬂé...gz.

)4 eng:Hadi Mohammed



-:Vertical Curves 4l cildaiall

ol a) Al (ol e (8 glilide Gl lasil Lagd cplad G Jan sl dal e Gl 1) il aadid
Gy o ge paall A Aol ¢l jUadl) o) (3 ydall deadtieall LS pall Gl HI A Al 8 s X s
Uil 13gd sale aaind (3Ll a3gd Meall selaall ) HELaYU Ll o3¢ b sllaall Zal 5l 5 el (i
Apigll Lgaal 21 @l 5 7 AN adadl) Cilyinia

el Lale(( 8V Ldatuna (puly 51) 01l salaia) o Auliall culdlosall 5 usl 1 il Jsha ()
iy iy g by Qalsie il ) sl g Cpalaal) G g LY B8 Jiad Alls (Al ) ala¥)) Al )
OSay Adapy O 5S5 Jatsall 5 dginiall ddlsall G (58 @llia o) alall e ¢ 88Y) e ol Hll sl (ke
Adeall Lalil) (e Llalas

Sssadll A1 el Spa 1335 cilbiaall ——r—

) Eng:Hadi Mohammd2020



~rgd ) il Clalliass §ga
(Clasally 5 eyl Gadl Lutie ol ) st Jsha = |
L = Length of Vertical curve measured horizontal.
i) v = ddaaae JS o) duae ddaned 5=450m= Saiall J sk D
JsY1 a1 Biaccppaall () sl (e Lagaii L) ae) Gl sl lasiSU 4 il daill 11, g2
(U044 - % LU lasi¥) g selia Hlani13.5% +
gl, g2: Percent longitudinal grades or slopes
JU sl (m) aeba Hlaail(4)
Q\J\A:.jﬁdgg),\;l\ é)él\A:gz_g]_
A = Algebraic difference in grades = g2 - g1

(+) gl

vl y2

Datum

(100m IS 5f) ddasa JST jlasi¥) & sl Jara =1 A Gl e guad Gl
r = Rate of change of grade per station T (clsall) siall Jgh
Y Eng:Hadi Mohammd2020



=l sl dkass = PV/.C = Point of Vertical Curvature

L;MU\ ableill ks = PV | = Point of Vertical Intersection

iall Algs ddai 5 ol Sl bl At = VT Point of Vertical Tangency

il g laall G piall (3 8 = Ay = Difference in elevation between tangent and curve.

wi}\é@\wggj@\éﬁ:Ae
Ae = Difference in elevation at P.V.I

y = Elevation of a Point on curve.

G sllaall ddadill i gl 1) (il ddads e gl ol 1) (o g8l A (e Olasally 45881 bl =
il el gute Al

X = Horizontal distance in station from P.V.C or P.V.T to required point.

¥ Eng:Hadi Mohammd2020



SIS Lad il ) ciliiadal) (e (e o dlia Aale 3 ) guas -3 il I (Aadall) £ gl
:Crest Vert.Curve OR Convex Vertical Curve sl (il Hadal) |
s (Ae, Ay, 1, A) 0o JS 3L (5855 JSET A e o S

Caeaadl u.“ el Cpa M0 Cillan o) ——————

(Blis s )daae ol Ania

Eng:Hadi Mohammd2020



:Sag Vert.Curve OR Concave Vertical Curve siall (il 1l (daiall-¥
dxse (Ae, Ay, 1, A) 0o JSELI) (sS85 JWIT A0 e ()5S0

° Eng:Hadi Mohammd2020



ol A (Aadalls daldd) i) g8Y)

1 A=g2-gl o r=A_g2-gl A sVl
L L T (el sk gy
Y N
A= b pemlax2— AYLF_AL
P bt 131 B0 13 Janiu g 2 2L 2 8
i pedall il T <. S oa o am en
1Y) Ol A e Ll Ap 4 (pa (38a)) oSy g
Elev. PVC +Elev. PVT —Elev.PVI
Ae= 2 5

. yzg*xz +glx+Elev.of PVC
X Al A Y dad cload dlilaall sy addiogg
Stationof PVI =Stationof PVC + & e g
2 o ) B 03 g4 liad (et

Stationof PVT =Stationof PVI +% PN g a5 Jla %,5 Aalall

6

-

8. Elevationof PVI =Elevationof PVCF gl% j[hﬁl:l L godia Uit jladiioy
9

' ' T i) Cpeda ale Jla B Al I
~ Elevationof PVT =Elevationof PVI +g2% Tgeaia p5F O o Sty
) Eng:Hadi Mohammd2020



_—9l
XO r

_;@Lﬁ\ ‘\JJ\.@QMJ
Vo= % *(X0)2 + gl(Xo) + Elev. of PVC

szl Cbuuu|).]| W lodl a9,20) ¢ adns  ddel Ll o Wle)l-:ada>\Mo
Ol=i9 2990 49,20]) 98 (,0,2J0 ddns) A0S olo ol ;eu> 0 A9q9log
IOV (9 ,UnoVlg S, =0l

Ul x>, (A) 3Ll o y280 gl La=o) (siziodl JSob @800 Sou-idda>Mo
izioll (sie adlwA &,Lol colS 158 .aouw, (Jl axl=)l gy A=g2-g1
280 (sucwiodl (i Au>90AS,Lal U8 151 boli Laxo

(;,.J_)l_L_}J\” (;pL_J(A) gS_)_‘.z” J_)_Q.” uls [5] S>g0C M&OJ a>l> V-ralh>Meo
(0.5%) 0 S8l uebléiall

4 Eng:Hadi Mohammd2020



=2 O b A g ol ) (Aadal) Jo Tl Cudia iba (30

—1 YIS L) glad g i) 48 Hhally Loayl ey s gaudall (§ 8 9 Cpeibaal)  do Culial) aladiind
(PVT¢ PVIPVC). At ) L) Laaulin s dpunsi 311 lianall a8l g o)

(Ae, 1/2, 1, A) a8l Y

Akl s 5125m50m S ) «100m JS)gasslio ol o sllaal) alasl] ALK cldanall s - €
A dad Gy wia e Al aie WU J ¥ baall e Jal &l o) el dasall od s (o ulie v a0
el G cliliall pladinl oSy seyla) ddad g Talail) oy Cliladll s g )I5Y) lassY g (PV )l
SN Adlisall (e (AW 3 el Cuvien Can 3005 50 ((PVI]) Adal st sy (38al) (S0, -1
Ll ddadil) e Al 5l b Caeat et (PVC)Aglad) ddads o gaia g

Dl s (PVIAaladl ddads (o gusie o Slaie Wl U uladdl e Lalail) ) cillasal) Caplia Coas -V
Gl ) Sy LeSe Lalail) s cililosall aladind (Say s¢(PVI) ddas g Jalail) (p clibasdll 56(g, ) S
A Ladi g wiia g A IS AL iall (b (W) B el S in Son A B 5w ((PVT) ddall o i
Ll ) Adatal) cpe Al 3l 8 Cand Laine (PV/] YAl

N

il (3 58 Lalse, sim (5 snsy (PV/T Ykl ks y o(PV/C) Aol s vie. o gusiall (5 5 il
Sade LS (PVI)aic

A Eng:Hadi Mohammd2020



- YIS a4l o pusiall (38 Alzaly sl U isiall e 2183 (S G guie caneny 9
" Ay - ilaal) e Gguiall =y (asall) giaiall e (Uasallyidadill o guie
Ay + pleddl e guiall = (Laiall) Saiddl e (daad)dhal) o guia

(S Jsaadl 8 LS 5 lluall Jagudl J g2 Jae Juady -V

Station | x(sta.) Tangent Elev. Ay= %*xz Curve Elev.
PVC 0.0 Elev.of PVC 0.00 Elev.of PVC
------ X, T=Elev.PVCtx*g | Ay :[a{ Jz Ty + Ay,
: 12
PVI L/2 Elev. of PVI Ae Elev. PVC+ Ae
""" X, T,=Elev.PVT + K’:*g’r A :E#[ Jz T,+ ﬂ}f’r
o Bttt o o) I
PVT 0.0 Elev.of PVT 0.00 Elev.of PVT

Eng:Hadi Mohammd2020



_:u_"m‘)(ls \.@_"\\}L';j cw\ :\A.UH\_\ Leal =Yg :Z_AM\ &bﬁ‘ alalaa @\Jﬁu\ S
,UJJY‘@JH\QALASMJS\EM\ wﬁjﬂthuc,\uaﬁ.\
Malia il G gllaal) Bl8IN cilbaaa Jawd 2i(Ae, 172, T, A) o queuad | Y

y:%*x2+glx+ Elev. of PVC (V) G52 G Aadal) o BB Guubia Gl |

5 il clg susia olua o glaall 3l ) o(pve)ialad ddasi (e collascally 4@V dilusall (X) Jiad -ridaadle

% 5 )L 5 dall (gl) 3 LA Lainecasall ‘;\;.ud\ ‘_g alla _) 3 )L A g (gl)
Adadl Aadall daa ga
—i il 2 LS g g Jand) alaii -
Stati on = (sta_) = % = x" = ogx =+ Elev. of PVC
PN Q.0 Elew. PWVC
e 1 5 =£==[:-;,:- + g,x, = Elev. of PVC
. 3 W — % 4 |:3"-'=; ;:-: . X. = Flev. of PWC
P I L2 vl LV Lol Flev. of PVC
E L E x 2 i
I 3 . — = *{x,)7 = g,x, + Elev. of PVC
————— x4 ¥ = % =({x,¥ +g,x, + Elev. of PVC
PN T L Elew. PNT
A Eng:Hadi Mohammd2020




a8l s +1.25%0 lasil afi p jasiedas oday y jie 600 Al sk ol ) Finie asaad sl ;Ui
18+00 s (5 886.10 M Lex sosia Ak 3 (il -2, 750 yanils ity 5 Jak
eatall Ll Ay o guie s Lo ) s slhadll

Dl 8 il Jaxe s LY

,ng'jmg;igy,z

.LZ\QLAAAe:\A:\é[)A o _o

(33a) 5l Aaaall J5k) 100 ole iniall J sk msni cillanally iaiall J gk slagy :Jad)

No. of St. = @ =
100 6 St.

oy a3 5 ey illana O WL (18+00) Aane 3 adalil) Al (1
il Al s Tl sia 5o L)

Elevationof PVI =Elevationof PVC+ gl%

886.10 = Elev. Of PVC+ 2*1.25 > Elev. PVC = 882.35 m

Elev.PVT =Elev.PVI 1g2%:886.10+[gj*(—2.75j:877.85m



Dyl A il Jaa ga LY
A_Q2-gl_-2.75—-(+1.25) _

ERRTCARE 6

—0.667% per station

y %*XZ +g,x+Elev.of PVC

At station 15+00 (4)adl)=» y = Elev. Of PVC = 882.35 m

At St.16+00 S 2
vy =[0257 108" +1.25) +882.35-883.27
2
At St.17+00 D _(—0.667 . 200 _
. v, =[085 200" +1.25(2) +882.35-883 516

At St.18+00 = y, = 883.10 m
At St.19+00 = y, = 882.02m
At St.20+00 = y, = 880.27m
At St.21+00 > y, = 877.85 m



L guita g Adas e adga €

_—gl_—(+1.25) _
Xo= 0= g g7 =L.BT4St

Yo =%(x0)2 +gl{x, J+Elev.of PVC

yo=‘0-2667(1.874)2 +1.251.874)+882.35=883.523m

idati i dasa (15+00) + (1487.4) = 16+87.4

L}.ﬂ Ae i e 3R o

m

Ao % _ (-2.75-(;1.25))*6 __a

Elev. PVC +Elev. PVT —Elev.PVI
Ae= 2 5

Ae= 2 5 ——3m....check




Ex:A500-meter equal-tangent sag vertical curve has the PVC at station 100+00 with an
elevation of 1000 m. The initial grade is -4% and the final grade is +2%. Determine the

stationing and elevation of the PVI, the PVT, the lowest point on the curve. and
Check (Ae).

_-Jall
(PVT¢ PVIPVC) At L&l Lgusalin s At )1l (lilanall ) ga il )

The curve length is stated to be 500 meters. Therefore,
the PVT is at station 105+00 ....... (100+00) + (5+00)
and the (PVI )is in the very middle at 102+50

Elevationof PVI =Elevationof PVC+ gl%

Elevationof PVI =1000—(4*g)=990m

Elev.PVT =Elev.PVI igz%:990+[%"‘[2j=995m

(Ae, /2,1, A) a8 o3 Y,
r=A_92-01_2-(-4) _1 504 perstation r-06

L L(st) 5 2
Ae:% =(2_(§4))*5:3.75m



y="F#x2+g,x+Elev.of PVC Aana JS1 il B gsan i

G 30(101+00)=7727?
G suia(102+00)=277
PVl smie(102+50)=0.6%(2.5)"2 +(-4*2.5)+1000=993.75m PV Ti4(105+00)=777

i 3ia(104+00)=22?

< 5ie(103+00)=777 L sauia § Adadi il a8 ga - €
Xo=— 17 3.333St.

idadi medl dass (100+00) + (3+33.3) = 103+33.3
yO:%@bP+gﬂ&ﬂ+EmvofPVC Adadi (jadd] 1 gusie

Yo :%(3.333)2 + (—4)(3.333) +1000=993.333m
Lilia Ae Al (g (38a3 -0

EthVC+EMvPVT_EmvPV|

Aez% —3.75m= Ae= 2 ; —3.75m...0k




